WEPpE+ 5

FREEER S 44 4

e L0 ERSIEY (o p F ey F 44 KERY
"‘ﬁﬁ"? : NS 0 v —1— .":F-e.ﬁ
LS SETE Y ey Bt 112 TEN Y
. 110/09/29 (b et £
KypH |85 Po | ER R S SER IS &
TR\ P FEER 012040 | FEEE
mET 2N fie £ 41,0007
W Lk 1107F B &7 304 84
P e 1 1 ) e
SR e e e I PP,
il]E—)‘Lérrﬂ:aﬂ‘ _g}; F?_}# =
et sy
% - x
4E€g‘i;;t94?s§ %f%fé?&%i“ﬁ?fﬁ%@@ﬁik ;;4‘:/&;&
g |Z|2IF A5 |S S AR R AT kR R G i I Sl
PR o N e S DS I ool I e S I S I O e S - I S D o IR 3 B e
S o i AR ok L] n
# R g -+ I3
(5 |1 |6 34 94 Y
)
FR2R 0 0
KEF 0 0
A 1 ol 3 i
AL A R 0 0 0
Py ST ler| PRIl x| ferrepiz) MIPEAE |+ ol |17 |38
N
% [9_3 4
E’l—l _!*'9'&
£3110] 6| 6 2 413 2 ol1l1]2]7]|6/|6/1 12 e PRI
e
Yeoh |90+
e e
A2 | BEP A AR [ B8 Y [MURs [ mpLye B rse| 2% 48 [£a) 4
fet
(1545537 5 5
WA 104 )
Bom AR R R TR AFY TRARERIELLFEE 0 2 A ST IRKE LR
é% A » N N 7 = »
’g = ‘%ﬁé W F R € AR AR GE R B A e BB 2 R R -
#
;‘f PR S ER- RN ER- 2
n
p 11 : 40-11 = 50 % 7 ThgkzHER




11 :50-12: 00 £ R iR =
.o p FRES BB impEy

12 : 00-12 : 40 . TRz i
2. 110-17% 835 4 2 Fihk 3 2 JRI* AL
o7 OB
. ARl
@
U
.
| E5EFLAEH 2 B0 2 AL TRKTLIRIE BEER o B F 3 She b2 LB -
B BB R G ARG P FROES WA B R AR R
B
L EEE W FAH L AT 2 EHE A TRK TG THERES R F T 6 o
é 2. hTERFE LR LTI » ¢ 32EA504 ~ 11T B124 » B L RELS -
Iy
LN
LEA PR A ER AT PR INGEL > FEPY 180T M T RKE AP aLEd 2
AL 24 F e k¥ R B FyEE 0 aE s IR RES R et s & 4 B ER
B lEee oy waes
B |2 FIBHERE R B AR R E 0 SN0 o B R BHREFIGRR FRPPER R TP
i ERARPHLEHFL LPREEH o
O FIANM GEPR BRSNS TR ER AT RKTRF 2 EaY B g erd
4y iR ﬁé“&.ﬁﬁﬂgf—,,g\ui‘;\j\ﬁﬂﬁ —éﬁvfﬁ’ﬂlj‘ﬁ ,_,l;ﬁ—,fq_)ﬂhgﬁ, uﬂ’},r. g
i f7 o
2R AR e W L e LY
G2 % st nfevh A 50. 0% 50. 0% 0% 0% 0%
Blo aa pan ) s LR 55. 6% 38. 8% 5. 6% 0% 0%
AN BN e T 44, 4% 50. 0% 5. 6% 0% 0%
P T ey 55.6%  44.4% 0% 0% 0%
5. B4 A e d RS R B 55. 6% 44, 4% 0% 0% 0%
6. & 75 B4 44 (5 crfl s g2 44, 4% 44. 4% 11. 2% 0% 0%




AR A
=) \Thi??h

N
\Z

o

e
e
e
K
e
e
e

@
@
e

e

@
@
@

S

[FEERP s p FLHFR]

e
@
@
@
Q=
@ e
@~
@




